Criminal Law Outline
1. Theories of Punishment 
a. Utilitarianism
i. Forward looking; seeks to regulate behavior to better society
ii. Deterrence, incapacitation, rehabilitation 
1. Deterrence → seeks to prevent future wrongdoing by providing a disincentive 
2. General → regulate society from committing future crimes
3. Specific → prevent the individual from committing future crimes 
iii. Critique: do people often rationally think about the punishment before committing a crime?
b. Retributivism 
i. Backward looking
ii. Punish criminal proportional to the crime
iii. Critique: might punish even when there is no benefit to society 
2. Elements of a Criminal Offense
a. Actus Reus
i. “A voluntary act or omission that causes a social harm”
1. Voluntary Act → conscious, volitional movement
a. MPC defines what is not voluntary
i. Reflex/convulsion
ii. Movement during unconsciousness/sleep
iii. Movement under hypnosis
iv. Movement that isn't the product of the actor
b. Decina (unconscious driving - extended timeframe): D suffered a seizure while driving and killed people. The court found a voluntary act by extending the timeframe, meaning D voluntarily got in the car knowing he condition. 
c. Martin (contrast - smaller timeframe): police took drunken D into public and was charged with public intoxication. Held, he voluntarily was drunk, but involuntarily in public, so no voluntary act. 
d. Note: timeframe analysis will only matter in cases like an epileptic seizure, convulsion - where voluntary act is not clear (pulling the trigger → timeframe doesn’t matter)
2. Omission
a. D has a duty to act and fails to do so 
b. CL:
i. Special Relationship
1. Spouses, parents/children, employers/employees
2. Beardsley (mistress - special relationship?): D had an affair with a woman and both got intoxicated. She took drugs and was bad shape, and D dropped her off, and she died. Held, no duty to act because not in a special relationship (mistress)
ii. Contract
iii. Statutory Duty
iv. Creation of Risk
v. Voluntary Assumption of Care 
c. MPC:
i. Statutory Duty
ii. Contract
iii. (Arguably) Special Relationship (ie marriage) 
b. Mens Rea
i. “The mental state necessary for commission of the crime”
ii. Intent
1. CL: “Purposely OR knowingly”
a. Purposely → It was the conscious objective to achieve the result OR
b. Knowingly → Knew the harm was virtually certain to occur
2. MPC: “Purposely”
a. Purposely → Has the conscious objective to bring a result
iii. Knowingly
1.  (MPC) Practically certain of the result → NOT intent
2. Jewell Doctrine: Willful blindness
a. High probability that a fact existed (Subjective); AND
b. Took deliberate actions to avoid learning the fact 
iv. Recklessness - (same under CL & MPC)
1. Consciously disregards a substantial & unjustifiable risk
v. Negligence - (same under CL & MPC)
1. D should be aware of a substantial and unjustifiable risk 
***Reckless → actor is aware
***Negligence → actor is not aware but should be
vi. General Intent vs Specific Intent Crimes
1. General Intent → intent to commit the criminal act
2. Specific Intent → intent to commit the criminal act + 
a. Intent to commit an act beyond actus reus
i. Ex. Burglary → intent to enter dwelling + intent to commit felony
b. Special motive
i. Ex. Larceny → taking away property + intent to deprive owner
3. Awareness of attendant circumstance
c. Causation
i. “The defendant’s voluntary act must cause the prescribed social harm”
ii. Actual Cause
Analysis could be as simple as But-For test. If not, consider Accelerating Result, Concurrent Cause, and Obstructed Cause
1. “D must be the actual cause of the harm”
2. “But For Test” - But for the D’s act, would the harm have occurred when it did?
a. If yes → not actual cause
b. If no → is actual cause
If there are multiple actual causes, more than one person can be actual causes
3. Accelerating a Result: if D’s actions hastened a death, he is still the actual cause
a. Ex. D1 shoots V and he would have died in 1 hour. D2 simultaneously shoots V and he would have died in 2 hours. Thus, V dies in 1 minute. D1 and D2 are both actual causes because they accelerated V’s death
b. Concurrent Sufficient Causes:
c. Was D’s conduct a substantial factor in the resulting harm? If yes → actual cause
d. Ex. D1 shoots V in the head, D2 shoots V in the heart at the same time; both shots would have killed V. But for test fails, because but for D1’s actions, V still would have died (same with D2). So, substantial factor test is used, and both are substantial factors in V’s death
e. MPC: Does not apply substantial factor test. Simply uses “but for” test w/ greater specificity.
i. D1 and D2 are both actual causes because but for their acts, V would not have died of 2 gunshot wounds
f. Obstructed Cause 
g. Ex. D1 stabs V in the stomach, and simultaneously D2 shoots V in the head, killing him instantly. Assume the shot would have killed him regardless of the stab. Result → D1 attempted to kill V but his efforts were obstructed
iii. Proximate Cause
1. Were D’s actions a sufficient cause of the harm to warrant imposing criminal liability? 
Common Law:
2. Direct cause: 
a. An act that is the direct cause is also the proximate cause 
b. Ex. D shots V, V dies. D is a direct cause
3. Intervening cause: 
a. a different “but for” cause that occurs after D’s act/omission
b. An intervening cause may relieve D1 of liability → superseding cause
c. CL (6 things to consider) → DAFFIO
Only talk about those relevant to the fact pattern
i. De Minimis Contribution
1. Too minor → not liable
2. Ex. D strikes V, requiring non-emergency medical attention. V drives to the hospital and is struck by lightning. D is likely not liable because the causal role was too minor
ii. Apparent Safety
1. If V reaches apparent safety from D’s act, D is not PC
a. Ex. D threatened V, so V left and went to her father’s house in the freezing cold where she would have been welcomed. V does not go inside and dies in the cold. V had reached apparent safety, so D was not the proximate cause.
iii. Free, Deliberate, Informed Human Intervention
1. D is not the PC of a result of a free, deliberate, and informed act of another
2. Ex. D1 strikes V, leaving her unconscious. D2 sees that she is unconscious and decides to rob her. D1 is not the PC of the robbery because the D2’s robbery was a free, deliberate, informed human act.
iv. Foreseeability of the intervening cause
1. If intervening cause is foreseeable, D cannot escape liability 
2. Dependent: act that occurs as response to D’s act → cant escape liability
a. Ex. D drives boat at unsafe speed and capsizes. In response, V, drunk, tries to swim to shore and drowns. His acts were in response to D’s act and foreseeable, so cannot escape liability
b. Ex. Rementer (beating gf): D was beating his girlfriend, causing her to run out into the street where she was struck by a car. The gf running into the street to escape him was foreseeable, so he cannot escape liability, is PC.
3. Independent (Coincidental): comes into play independent of D’s act → if not foreseeable, D not liable
a. Ex. Rementer (beating gf): D was beating his girlfriend, causing her to run out into the street where she was struck by a car. The gf running into the street to escape him was foreseeable, and getting hit by a car (independent intervening cause) was foreseeable, so he cannot escape liability, is PC.
v. Intended Consequence 
1. D is proximate cause of a result if an intervening cause causes the result to occur in the same manner
a. Ex. A wants to kill her baby, acquires poison, and pretending it is medicine, instructs B to administer the poison. B places ‘medicine’ on counter, and A’s son gives it to the baby, who dies. A is liable because the baby died by poison, as she intended
b. Ex. If baby was shot, this doctrine would not apply because the death resulted in a different manner
vi. Omissions
1. Omissions don’t supersede earlier wrongful act, even when intervening actor has a duty to act
a. Ex. If D negligently drives, crashes, and causes V’s death, who was not wearing a seatbelt. V’s failure to wear a seatbelt does not absolve D of liability
b. Ex. D is beating A’s child, and A does not stop him. A’s failure to act does not absolve D of liability, though A may also be responsible. 
MPC
4. Was the actual result too remote or accidental in its occurrence for the D to be liable?
5. Basically, a foreseeability analysis 
d. Concurrence 
i. “The act and culpable mental state exist at the same time”
ii. Actus reus and Mens rea must occur at the same time (2 parts)
1. Temporal Concurrence
a. D must possess the mens rea when engaging in the actus reus
1. Ex. D intends to kill V, but when he goes to do it, he instead becomes friends with him. Later, D non-negligently kills V. 
2. → No temporal concurrence because mens rea preceded actus reus
ii. Ex. D innocently kills V. After, she decides she is glad he is dead. 
1. → No temporal concurrence because actus reus preceded mens rea
2. Motivational Concurrence
a. Mens rea is the motivating force behind the actus reus 
b. Ex. D intends to shoot V when V arrives at home. Incorretly believing the gun was unloaded, he tests the trigger, and it fires a bullet, striking V who unexpectedly enters.
i. → No motivational concurrence because though he intended to kill V, this intent was not the motivating force behind him pulling the trigger. 
iii. Thabo Meli (concurrence): D plotted to kill V and stage his death as an accident. D hit V in the head, and thinking he was dead, pushed him off a cliff. D actually died from being pushed off the cliff. Though there was no temporal/motivation concurrence when he was pushed off the cliff, the court rolled both acts together as one act (hitting him in the head + pushing him off cliff) to find concurrence. 
3. Criminal Homicide
Common Law
a. Criminal homicide = Unlawful Killing of a human being by another human being without justification or excuse
i. CL Human being: fetus is not a human being, so causing a stillbirth is not homicide (often rejected by statute) 
ii. CL End of life: total stoppage of circulation of blood, stopped breathing/heart (today, brain dead constitutes end of life too) 
b. Murder = killing of a human being by another with malice aforethought
i. Malice (one of 4 mental states)
1. Intent to kill (express)
2. Intention to inflict grievous bodily injury (not covered)
3. Depraved Heart: Extremely reckless disregard for human life (implied)
4. Felony murder: intention to commit a felony during which a death occurs, even accidentally (implied)
ii. Intentional Homicide
Common Law
Murder (see statute for 1st/2nd degree) → unless provocation → Voluntary Manslaughter
1. First degree murder: intentional killing with premeditation and deliberation 
a. Premeditation = killer thought about the killing in advance
i. How much time needed? 
ii. Bingham (rape/strangle disabled girl): D strangled victim for 3-5 minutes, but court held length of time was not necessarily indicative of premeditation
b. Deliberation = quality of killer’s thought process
i. Done with a cool head, no time to cool off 
ii. Weigh things like planning, the motive, the manner, consequences 
c. Gilbert v State (old man): man’s wife was very sick, complained about wanting to die. He shot her to relieve her pain. Held, there was premeditation and deliberation, so 1st degree murder. He thought about the killing beforehand, consequences, wanted to relieve her pain.
2. Second degree murder: default verduct
a. Intentional killing with malice aforethought, but without premeditation/deliberation
3. Voluntary manslaughter 
a. Committed in sudden heat of passion, as a result of legally adequate provocation
i. Types of legally adequate provocation: (aggravated assault/battery, mutual combat, crime against family, illegal arrest, caught spouse in act of adultery)
ii. Provocation: (4 points to analyze) 
1. D was actually provoked
2. Reasonable person would have been provoked
3. D did not have sufficient time to cool off
4. Reasonable person in D’s shoes would not have cooled off 
iii. Berry (killing wife in heat of passion): married couple, wife has an affair and flaunts it at Berry, taunts him. Berry goes to her apartment to talk to her, but she’s not there, spends the night. When she returns, he strangles her. Held, voluntary manslaughter because the killing was done in a heat of passion as a result of provocation. He was provoked, a reasonable person could have been provoked by the ongoing taunting, he didn’t have time to cool off (once she arrived at the apt, sus), and reasonable person would not have cooled off



MPC
Murder (purposely or knowingly) → Mitigated to Manslaughter if under extreme mental disturbance 
4. Murder = when one causes death of another (no degrees)
a. Purposefully
b. Knowingly; or
c. Recklessly under circumstances manifesting extreme indifference to value of human life 
5. Voluntary Manslaughter = Committed under the influence of extreme mental/emotional disturbance for which there is a reasonable explanation of excuse
a. Broader version of CL provocation; doesn't have to be a single event, can be numerous events over time  and Words alone can suffice 
b. Pretty much Subjective test → reasonable person in actor’s shoes under circumstances he believes them to be 
iii. Unintentional Homicide
Common Law
1. Involuntary manslaughter = a killing caused by recklessness or negligence 
2. Depraved heart murder = a killing that occurs by an act that manifests an extreme indifference / recklessness to human life
a. If he consciously takes a substantial/unjustifiable risk foreseeable of causing death 
b. Ex. Malone (Russian roulette): kid suggests they play russian roulette, points a gun at friend’s head and kills him. Did not have intent to kill; however: Held, depraved heart murder (malice). Pointing gun at head was an extreme indifference /recklessness to human life, so he could be charged with 2nd degree murder 
c. Other examples: 
i. Failing to control a dog that had a history of threatening/attacking people
ii. Driving intoxicated and disobeying traffic laws
iii. Shooting into a train for no reason but to cause mischief 
3. Felony Murder 
i. If a person is killed (even accidentally) during the commission or attempted commission of any felony
ii. Ex. D robs V at gunpoint. V has heart disease, and dies of a heart attack → Felony Murder, because death caused during commission of armed robbery
iii. Ex. D1 and D2 commit a robbery and are in a high speed chase with police. They run a red light and kill V. → Both guilty of felony murder because they were escaping from robbery 
b. Limitations on FM —- (MIRA)
i. Merger
1. A felony that is assaultive (thus, not independent) merges with the homicide, so FM is not applicable (Think, assault with a deadly weapon) 
2. D kills V while assaulting her with a deadly weapon. Held, assault with a deadly weapon merges with the homicide, so FM cannot be applied.
ii. Inherently Dangerous Felony (know this one well) 
1. Limits FM to killings done during an “inherently dangerous” felony (2 ways to determine inherently dangerous)
a. Abstract: Does the felony create a substantial risk to life?
b. Abstract + Facts: Definition (above) OR look at the circumstances of the case
2. James (meth mom - abstract): mom cooked meth in her house with her children present, and had done so “safely” for years. Explosion kills her kids. Held, cooking meth was inherently dangerous because of the volatility of the process/chemicals, so it falls within FM rule.  
3. Hines (hunting - facts): Hines was hunting as a convicted felon (felony), drunk, in the dark, firing near people. Possession of gun not necessarily inherently dangerous. However, held, the facts of how the killing was committed were taken into account, determining it was inherently dangerous and thus FM applied. 
4. Ex. D defrauded X by claiming to have a medical cure for X’s cancer. X did not undergo typical cancer treatment, used D’s “cure,” and died as a result. FM using felony of grand theft?
a. Abstract: definition of grand theft, it is not inherently dangerous
b. Abstract + facts: under the facts, the grand theft created an inherently dangerous result
iii. Res Gestae
1. Must be a causal connection between the felony and the death 
2. Ex. D robs a store, and while fleeing pursuit, strikes a person with his car. FM can apply because there was a causal connection between the felony (robbery, extended to the flight) and the death
3. Ex. D has an unlicensed handgun in his car (felony) and strikes a pedestrian. FM does not apply because there is no connection between the felony and the death.
iv. Agency Rule (3rd party)
1. Felon is responsible for deaths caused by 3rd party agents of the felony 
2. Homicide committed by a police officer, victim, or bystander → Not within FM rule 
MPC
iv. Involuntary Manslaughter = when one causes death of another 
1. Recklessly not under circumstances manifesting extreme indifference to value of human life
v. Felony Murder
1. “Recklessly under circumstances manifesting extreme indifference to value of human life”
2. If a death occurs during BURGLARY OR MURDER → felony murder rule applies 
vi. Negligent Homicide = when one causes death of another negligently 
4. Defenses
a. Justification Defense
i. D’s conduct was morally good, socially desirable, or at least not wrongful
ii. Examples: Self defense, Necessity
1. Ex. Killing a human being (usually morally wrong/socially undesirable) is okay if it occurs for a justifiable reason 
iii. Self Defense
1. D is justified in using force to protect himself from imminent harm
2. Goetz (subway): D was approached by black kids, who said give me $5. D was previously robbed/mugged, and though they never threatened him, he shot them and claimed self defense. Court determined an objective test should be used (whether a reasonable person under teh circumstances would have acted the same way), but facts D knew at the time are also considered.
Common Law
3. A non-aggressor is justified in using deadly force if he reasonably believes that force is necessary to protect himself from the imminent use of deadly force by the other party
4. Analysis - OBJECTIVE (if on exam, go through this)
a. Force threatened against D
b. D not the aggressor
c. D was in imminent danger (if no imminence, can think about battered woman syndrome)
d. Force he was threatened with was unlawful
e. D must reasonably believe
i. Danger to his life exists
ii. Use of proportional deadly force is necessary
5. Duty to Retreat
a. Most non-MPC jurisdictions do not have a duty to retreat; thus, non-aggressor can use deadly force even if it could be avoided by retreating 
6. “Aggressor” (cannot use deadly force in self defense)
a. Deadly aggressor loses self defense UNLESS he abandons the aggression and communicates it
i. Ex. A pulls a knife on V, and V pulls out a gun in response. If A puts down the knife, runs away, communicates he is no longer aggressor, he can regain the right of self defense
b. Majority rule: If A is a non-deadly aggressor, and B threatens use of deadly force → A regains right of self defense
c. Minority rule: If A is a non-deadly aggressor, and B threatens use of deadly force, A cannot use self defense until he retreats (if possible) 
d. Ex. D observed V removing windshield wipers from his car. After a verbal exchange, D went inside and got his gun, and came out to find V leaving the area. D threatened to shoot V, and in response V turned toward him with a wrench. D then shot V in “self defense”
i. Held, V may have been the initial aggressor when removing windshield wipers (though doubtful, as it wasn’t a deadly act). However, he left, and was no longer the aggressor. D became the aggressor by threatening V, so he was not entitled to self defense




MPC
7. D’s subjective belief that force is necessary to protect himself against death, serious bodily harm, kidnapping, or rape 
a. So all facts matter - age, V’s clothes, past experience, etc)
b. BUT, if D is reckless or negligent in his belief → self defense is not available 
b. Excuse Defenses
i. D’s conduct was not justified, but the law cannot blame him
ii. Examples: Insanity, can also mention Duress/Necessity
1. Duress → threat of imminent death/injury unless D commits the crime (situation caused by a person)
2. Necessity → Response to a dire situation (outside forces, like weather)
iii. Insanity Defense
Common Law
1. M’Naughten test: A person is legally insane if he:
a. Does not know what act he is doing; OR
b. Does not know the act is wrong
Examples:
· D, mentally ill, thinks he is killing a wild animal, but it ends up being a person → D can use insanity bc he did not know he was killing a person (A). He also might claim because he didn’t know it was a person, he didn’t know it was wrong (B)
· D, mentally ill, kills V, who he thinks is about to kill him because of paranoid delusions  → Though D might know what he is doing, he does not know it is wrong (B) because he thinks he’s acting in self defense 




MPC
2. Insane if he, due to mental disease/defect:
a. Lacks capacity to appreciate the wrongfulness of the conduct; OR
b. Can't conform his conduct to the law
3. Freeman (insanity): D convicted of selling drugs, claims insanity. Court adopts the MPC test because it is less rigid than M’Naughten. 
a. M’Naughten: no degrees of incapacity; “knowing” rather than understanding his conduct; experts cant testify about whether D understood what he was doing 
b. MPC: appreciate → understand what he is doing/why it’s wrong, allows for more helpful expert testimony 
5. Burglary
Common Law
a. “Breaking and entering of a dwelling house at nighttime with the intent to commit a felony within” → 5 ELEMENTS
i. Breaking
ii. Entry
iii. Dwelling house
iv. Nighttime
v. Intent to commit a felony within
b. Breaking
i. Requires movement, for ex opening a door slightly. If you just walk through an open door, NOT breaking
ii. Thibeault (entering with permission): D entered V’s apartment and stole items. V had previously given D permission to enter. Prosecution could not prove breaking because he did so with permission.
iii. Ex. Walking through an open door → No breaking; pushing the door open → Breaking 
c. Entering
i. Within the walls, beneath the roof, maybe “curtilage”; could be slight (like sticking your finger through a hole)
1. “Curtilage” = extended boundary around (like a fence)
ii. Eichman (guys on roof): guys climbed on a roof and started a fire, charged with burglary. Held, no entry because they were not within the walls. 
d. Dwelling House
i. At CL, has to be a house; business doesn’t suffice. 
ii. Some states have extended to other structures
iii. What facts suggest it is/is not a dwelling house?
iv. Ex. A barn. Could argue that it is not a dwelling house because you don't live in it. OR you could argue it is a part of the dwelling house because you conduct domestic business there
e. Night Time
i. At CL, if it is committed during the day → NOT burglary (note, and FM rule would not apply)
ii. Some places allow it to happen during the day 
f. Intent to commit a felony therein
i. Specific intent
6. Inchoate Crimes
a. Attempt
i. Requires Actus Reus + Mens rea (No causation) 
Common Law
ii. Mens Rea: - Specific Intent
1. Intent (purpose) to commit the actus reus (ie D must intend to do the act that brings him in dangerous proximity)
2. Intent (purpose) to commit the target offense
Ex. D points gun at V, and is arrested before he pulls the trigger. For a conviction of attempted murder, D must 1) intend to point the gun AND 2) intend to commit the murder
Ex. Attempted Burglary → must intend to enter the dwelling, and intend to commit a felony therein 
Ex. Harris (points gun at gf): D fires gun at gf as she drives away and is convicted of attempted murder based on jury instruction that he could be convicted with intent to cause serious bodily harm. Held, to be convicted of attempted murder, nothing less than intent to kill must be proven. 
iii. Actus Reus:
1. Dangerous proximity: 
a. ASK: how close was D to actually committing the crime, and how much has already been done
b. Vague, so courts consider: 
i. Nearness of the danger
ii. Substantialness of the harm
iii. Seriousness of the harm 
c. The more serious the offense, the less close the actor must be to completion
d. Rizzo (try to rob a guy): D’s planned to rob a guy but could not find him. Not attempt because they weren’t close to completing the crime
2. Physical proximity: 
a. D was physically near completion of crime
b. Ex. If D intended to kill V, D would need to be near V
3. Indispensable element: (not followed)
a. Did did all necessary steps to complete the crime 
b. Critique: hinders prevention if police must wait until all steps have been completed
c. Ex. If D intends to murder, but did not yet acquire a weapon, an indispensable element is missing, no attempt
4. Probable Desistance: 
a. Past the point of no return → Would a reasonable person abandon the crime by that point?
b. Critique: reasonableness doesn’t make sense, because a reasonable person would commit a crime; reasonable for a criminal is odd
c. Ex. D enters bank, goes to the teller
5. Abnormal Step: goes beyond the point where the normal citizen would think better of his conduct and stop
6. Unequivocal test: D’s acts, viewed in the abstract demonstrate intent to commit a crime 
a. Ex. D buys matches with intent to commit arson. In abstract, buying matches is not unequivocal 
MPC
iv. Mens Rea: (same as CL) 
1. Intent (purpose) to do the actus reus 
2. Intent (purpose) to commit the target offense
v. Actus Reus
1. Substantial Steps test
a. Lying in wait, searching for victim
b. Enticing/seeking to entice victim to go some place
c. Gathering intel on a place
d. Unlawful entry of a structure/vehicle
e. Possession of materials specifically designed for the unlawful use
f. Possession, collection, or creation of materials to be used 
vi. Defense to Attempt - Impossibility
MPC rejects defense of possibility, as does an overwhelming majority of states
1. Factual Impossibility 
a. NOT a defense → If impossibility is raised, prosecutor would be arguing towards this 
b. If the facts were what D believed them to be, he would have succeeded in committing the crime? If Yes → factual impossibility
c. Ex. D tries to pickpocket by putting his hand in a pocket, but it is empty. Prosecutor would argue that it is factually impossible to steal something that isn’t there, and thus not a defense. D is guilty of attempted larceny. 
2. Hybrid Legal Impossibility
a. IS a defense → would be argued by defense
b. When D’s intended act is criminal, but he is mistaken about the legal status of some relevant factor
c. Ex. D thinks he is buying a stolen item, but the item is not actually stolen. Defense would argue that D cannot be charged with attempt to purchase stolen property because he was mistaken about the legal status of the property.
i. Prosecutor might argue that this is a factual impossibility (thus, not a defense) because had the property actually been stolen (as D believed), he would have succeeded in receiving stolen property.
d. Ex. D thinks he is bribing a juror when she isn’t one
3. Inherent Factual Impossibility (not important)
a. Crime is real, but means by which it is committed are not
b. IS a defense
c. Ex. D intends to kill his mother and stabs her with a push pin
4. Legal Impossibility 
a. Crime doesn’t exist 
b. IS a defense
c. Ex. D hates paying taxes and decides to pay them on April 14. Not a crime because taxes are filed on April 15
b. Conspiracy 
Agreement between 2+ people to commit an unlawful act(s) 
**Only need to talk about Actus Reus and Mens Rea
Common Law
i. Does not merge with crime, so you can be charged with conspiracy and the crime itself
1. Ex. D1 and D2 conspire to kill V, and do so. They can be charged with conspiracy to commit murder AND murder
ii. Actus Reus:
1. Requires bilateral agreement - meeting of the minds
2. No overt act towards the crime is necessary
Ex. D1 and D2 agree to rob a bank → Can be charged with conspiracy, even without taking any steps 
iii. Mens Rea (Specific Intent)
1. Intent to form an agreement AND
2. Intend to achieve the crime
MPC
iv. Does merge, so cant be charged with conspiracy to commit murder and murder
v. Actus Reus
1. Requires unilateral agreement (actor thinks he’s entering into an agreement) AND
2. Overt step - an act in furtherance of the conspiracy (can be very minimal)
Ex. D1 and D2 agree to rob a bank → Cannot be charged with conspiracy until an overt act occurs, like scouting the location
vi. Mens Rea (Specific Intent) same as CL
1. Intent to form an agreement AND
2. Intend to achieve the crime
vii. Examples:
1. A and B agree to rob a bank. It turns out that B was involuntarily intoxicated when they made the agreement and didn’t know what he agreed to. Can they be charged with conspiracy?
a. CL: NO → a bilateral agreement is required, and B did not actually agree because he didn’t know what he was doing
b. MPC: NO → no overt step was taken
2. D was in the car looking to rob someone, and others in the car ended up doing a drive by shooting. Jury was instructed that implied malice was sufficient to convict of conspiracy to murder. Held, conspiracy to murder requires intent to kill 
viii. Pinkerton Rule (Common Law)
1. A conspirator may be held liable for a crime committed by other conspirators even if that crime was not part of the agreement if the crime was:
a. In furtherance of the conspiracy
b. Within the scope of the conspiracy
c. A reasonably foreseeable consequence of the original agreement 
2. No Pinkerton rule in MPC 
3. Critique: very broad liability 
Cases (Know these - make sure they’re all there)
· Decina (unconscious driving - extended timeframe): D suffered a seizure while driving and killed people. The court found a voluntary act by extending the timeframe, meaning D voluntarily got in the car knowing he condition. 
· Beardsley (mistress - special relationship?): D had an affair with a woman and both got intoxicated. She took drugs and was in bad shape, and D dropped her off, and she died. Held, no duty to act because not in a special relationship (mistress)
· Issue: How should a special relationship be defined? 
· Gilbert v State (old man): man’s wife was very sick, complained about wanting to die. He shot her to relieve her pain. Held, there was premeditation and deliberation, so 1st degree murder. He thought about the killing beforehand, consequences, wanted to relieve her pain.
· Berry (killing wife in heat of passion): married couple, wife has an affair and flaunts it at Berry, taunts him. Berry goes to her apartment to talk to her, but she’s not there, spends the night. When she returns, he strangles her. Held, voluntary manslaughter because the killing was done in a heat of passion as a result of provocation. He was provoked, a reasonable person could have been provoked by the ongoing taunting, he didn’t have time to cool off (once she arrived at the apt, sus), and reasonable person would not have cooled off
· Malone (Russian roulette): kid suggests they play russian roulette, points a gun at friend’s head and kills him. Did not have intent to kill; however: Held, depraved heart murder (malice). Pointing gun at head was an extreme indifference /recklessness to human life, so he could be charged with 2nd degree murder 
· James (meth mom): mom cooked meth in her house with her children present, and had done so “safely” for years. Explosion kills her kids. Held, cooking meth was inherently dangerous because of the volatility of the process/chemicals, so it falls within FM rule.  
· Hines (hunting - facts): Hines was hunting as a convicted felon (felony), drunk, in the dark, firing near people. Possession of gun not necessarily inherently dangerous. However, held, the facts of how the killing was committed were taken into account, determining it was inherently dangerous and thus FM applied. 
· Goetz (subway): D was approached by black kids, who said give me $5. D was previously robbed/mugged, and though they never threatened him, he shot them and claimed self defense. Court determined an objective test should be used (whether a reasonable person under the circumstances would have acted the same way), but facts D knew at the time are also considered.
· Freeman (insanity): D convicted of selling drugs, claims insanity. Court adopts the MPC test because it is less rigid than M’Naughten. 
· Critique of M’Naughten: no degrees of incapacity; “knowing” rather than understanding his conduct
· MPC: appreciate → understand what he is doing/why it’s wrong, allows for more helpful expert testimony 
· Harris (points gun at gf): D fires gun at gf as she drives away and is convicted of attempted murder based on jury instruction that he could be convicted with intent to cause serious bodily harm. Held, to be convicted of attempted murder, nothing less than intent to kill must be proven. 
· Thibeault (entering with permission): D entered V’s apartment and stole items. V had previously given D permission to enter. Prosecution could not prove breaking because he did so with permission.
· Eichman (guys on roof): guys climbed on a roof and started a fire, charged with burglary. Held, no entry because they were not within the walls. 
· Study case list - know how they operate in the context of the topic (ie Beardsley in the context of omissions) 
· Practice her practice exam she sent out 
· Policy Question Topics - talk about theories of punishment, Prosecutor/defense arguments, my opinion, look at what Levinson says (Rationales)
· Topics
· Voluntary manslaughter
· Class 15
· Felony murder - high probability per MC
· Reasonable person defense
· Class 21
· Excuse defense (insanity, Duress, competency)
· Class 20, 21
· Theories of punishment 
· Utilitarianism = how do we prevent this from occurring in the future
· Deterrence (incompetent person cannot control his actions so he is not deterable, and punishment is not an example for others
· Rehabilitation (incompetent person cant be rehabilitated in jail, mental hospital would be better)
· “Underlying today’s decision is our belief that treatment of the truly incompetent in mental institutions would better serve the interests of society as well as the defendants”
· Retributivism = punishment proportional to the crime 
· No satisfaction from punishing a mentally ill defendant 
· Attempts
· Class 21, slide 34
· Conspiracy 
· Policy question: which is more persuasive, bilateral (CL) or unilateral (MPC) agreement
· -CL is better, meeting of the minds is a more significant threat; if there are not 2 people conspiring, it’s close to punishing a thought crime 
· Arguments from prosecutor, defense
· Burglary will be on the exam
· Red cases in deck are the ones the facts come from 
· NOT on issue spot  
· Mistake of law/fact, 
· strict liability, 
· accomplice liability  
· Duress
· Necessity
· Conspiracy 
· Larceny, trick, false pretenses, embezzlement??? 
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